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- General Instructions :

() Al questions are compulsory.

(i ii) The question paper consists of 31 questions divided into four sections —-—A
B, CandD.

(i) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 8 marks

each and Section D contains 11 questions of 4 marks each..

(tv)  Use of calculators is not permitted.
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SECTION A
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Question numbers 1 to 4 carry 1 mark each.

L =i fgemd aeieh 6x%—x — k=0 %1 % qm g 8, ° k 1 A 710 HT |

If one root of the quadratic equation 6x% — x — k = 0 is —g—, then find the

value of k.
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2. TH 15 ara%aﬁ?.ﬁ'cﬁw%ma 60° ST <HITT AR 3 lmﬁgﬁwrém |
e st et SR H TR B 2 | o
A ladder 15 m long makes an angle of 60° with the wall. Find the he1ght
of the point where the ladder touches the wall.

3. gt x8 . x2 ™. el A g F T 3@ gy w e 2 ®. g
¥ 3rg T § SO TR | 39 YR 99 TSI oAl HEA T i |
A solid metallic cuboid of dimensions 9 m X8 m x2m is melted and
recast into solid cubes of edge2 m. Find the number of cubes so formed.

4. O 99 QOR =W % Th g0 W U 9w forg P@mﬁ%@TPQ@ﬁrTré
21 HELPOR 120° B, a‘uoma%mw%? :

PQ is a tangent drawn from an external point P to a c1rcle with centre
O, QOR is the diameter of the circle. If £ POR = 120°, what is the
measure of £ OPQ ?
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Question numbers 5 to 10 carry 2 marks each.

5. X%WWW
J3x2 + 10x - SJ_ 0

Solve for x :

J§X2 +10x-8+4/3 =0

6. af wm W 3 B 73 9 AW T I6 11 9 ¥ e T F W R,
at 35! 1841 Ug AT BT ?

If seven times the 7f‘h term of an A.P. is equal to eleven times the 11th
term, then what will be its 18 term ?
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Two different dice are thrown together. Find the probability that the

~ product of the numbers appeared is less than 18.

M T TR IGT F A e i 3,23 (-1, 0) % am mF ot
(2;—5)muﬁ?éaeslﬁ%,,aﬁmasﬁﬁ%ﬁé¥ﬁmmﬁm!

If two adjécent vertices of a paralleiogram are (3, 2) and (- 1, 0) and the

diagonals intersect at (2, — 5), then find the coordinates of the other two
vertices.

& TR ST 4, A AB = AC R, 7t g 6 & BE = EC.
. A |

B E - C
In the given figure, if AB = AC, prove that BE = EC.

10. @aﬁaé(vﬁqaﬁ)ﬁmmwzﬁ?ﬁmﬁwmaﬁml
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Find the probability that in a leap year there will be 53 Tuesdays.
4
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Questioﬂ numbers 11 to 20 carry 3 marks each.

11, R fgEm wfis (a—-b)xz+(b%c}zi+(é-—a)=0%ﬂ§1wa,?ﬁm
Hive 6 2a=b +c. . .

If the roots of the quadratic equation (a — b) 2 +(b-c)x+(c—a)=0are
equal, prove that 2a=b +c. s '

12, FrefRea Sof @1 AT T RO
544D +9+(=39)+18+ (=37 +17+...+ (=5 +81+(-8)
Find the sum of the following series :
5+(—-41)+9+(~—39)+13+(-—37)+17+...+(—5)+81+(—3)

13. wtﬁqﬂaﬁ%@rwaﬁm,wméﬁ?ﬁq@%w‘wﬁmm
600%16@5@%%@%%%%%1

The shadow of a tower at a time is three times as long as its shadow
when the angle of elevation of the sun is 60°. Find the angle of elevation
of the sun at the time of the longer shadow. '

14, fogall 8, -2) @M (-3, -4 H firem I YETETs Wi TEkiE HE
forgait % frdarss s SHIRT |
Find the coordinates of the pdints of trisection of the line segment joining

the points (3, —2) and (- 8, - 4).
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In the given figure, PA and PB are tangents to a circle from an external

point P such that PA = 4 cm and £ BAC = 135°. Find the length of chord
AB. - |

16. %W%%%WWW@WQ@@W%%%W
Prove that the opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.
30/2/1 : = 6
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& ™ amgft §, ABCD s @eiw wgdw, Rl yed AB = 18 ¥R,
DC=32%M, AB || DCTM ABF ACH fM H gt 14T 8 | I A, B, CH
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D 328l

A gt B

In the given figure, ABCD is a trapezium with AB || DC, AB - 18 cm,
DC = 32 cm and the distance between AB and AC is 14 cm. If arcs of

equal radii 7 cm taking A, B, C and D as centres, have been drawn, then
find the area of the shaded region.

D 32 cm

A 18 cm B

T 3 EFE-ge Wi i BT SR ST i I 50 127 | A T A
314 7 T B, A SEHT TN TS EABS T4 B | [ = 8-14 W]

The radius and height of a solid right circular cone are in the ratio of
5 : 12. If its volume is 314 cm3, find its total surface area. [Take = 3-14]

7 ' : P.T.O.
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In the given figure, A ABC is an equilateral triangle of side 3 units. Find
~ the coordinates of the other two vertices. '

A (2 0) B

20. %@ﬁﬁq%ﬁwmcﬁﬁ%sﬁém-z0),B(o,2)w,0(2,0)§,
= ADEFﬁa%sﬁﬁD(-4,0>,F(4,0)aenE(o,4)%,%m%l

Show that A ABC with vertices A (— 2, 0), B (0, 2) and C (2, 0) is similar to
A DEF with vertices D (- 4,0),F(4,0)and E (0, 4).

30/2/1 8
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Question numbers 21 to 31 carry 4 marks each.

21. AT mwﬁm% | 3T ST T ARTEA 116 n & A B qUT IH Bl
%aﬁaaﬂz@G@ﬁ%laﬁraﬁﬁWﬁmaﬁﬁm

Two circles touch internally. The sum of their areas is 116 1 cm? and the
distance between their centres is 6 cm. Find the radii of the circles.

92. AR 1+4+T7+10+..+x =287 B, @ x 1 AF F1q I |
If 1+4+7+10+...+x =287, find the value of x.

93. 3 M 3 5o Sowel ¥ THdE 39 €t | I 99 W T fog W
3d: T T § TRI-GEnedt hl T RN |
Draw two concentric circles of radii 3 cm and 5 cm. Taking a point on the
outer circle, construct the pair of tangents to the inner circle.

24, 7H. ﬁ@%ﬁ%ﬁﬁﬁ@rﬁm%ﬁr@twmw 60° qT 3IUH
g T ST B0 45° 3 lrﬁmﬁwréarasﬁm | [¥3 = 1-732 T
sHifw ]

From the top of a 7 m high building, the angle of elevation of the top of a
tower is 60° and the angle of depression of its foot is 45°. Find the height
_of the tower. [Use /3 = 1:732]

25. @aeréﬁ QO%W(Dlscs)% 7w 1%90%@&@%%(@%@
T g | AR T 9§ ¥ O feeh Aigeed el Sl 2, @ g
T @ BT 75 38 e m eifka B ) @ o A T ",
(11)5@[%’?@@’8@1!

A box contains 90 discs which are numbered from 1 to 90. If one disc is
drawn at random from the box, find the probability that it bears (i) a
two-digit number, (ii) a2 number divisible by 5.

30/2/1 9 ’ ' P.T.O.
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path of width of 0-7 m. Find the expenditure of cementing: the path, if its
cost is ¥ 110 per Sq. m. :

20%%@3@%%@-%3@,%%% 60° &, S 3 auR
%mww_mmwé%wwﬁamﬁﬁmw% | Al g

116— ¢m, find the length of the wire,

10
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A child puts one five-rupee coin of her saving in the piggy bank on the
first day. She-increases her saving by one five-rupee coin daily. If the

piggy bank can hold 190 coins of five rupees in all, find the number of

days she can continue to put the five-rupee coins into it and find the total

money she saved.

Write your views on the habit of saving.

30/2/1 ‘ 11




